
CLAT solutions 
Section A 
1. 

a. Jauna 
b. Lagunaz 
c. Akerarengan 
d. Gotzonkaz 
e. Belgikaren 
f. Jaunengan 
g. Apaizentzat 
h. Gotzonez 
i. Belgikargaz 
j. Lagunen 
k. Akerarentzat 

2.  
a.  ceká – cekal 

b. spá – spal 
c. bezi – bezil 
d. mluvi – mluvil 

e. studuje – studoval 
f. hne – hnul           
g. varí – varil 

 
Section B 
 

1. The men grow. 
The dogs see the boats. 
 
pitus pikanat nrufus 
hiñ wahan npit. 
 

2. The boys take milk from the cat. 
The birds lift a fruit from the boats. 
 
mitin rafat nñimus 
hiñinus haratat nmitinus  tahusif. 

 
3. The boys do not lift the dog from the cage. 

The woman does not have to push the vehicles. 
 
mitin mahan rafata npitus tañusif. 
Hiñ rafan pataka nunfiw ñimusif. 

 

Section C 
 

4. a. 1 
b. 1 



c. 2 
d. 2 
e. 1 
f. 2 
g. 1 
h. 1 
I. 2 
j. 1 
k. 2 
l. 2 
 
conditional vs indirect question 
 
5. 
a. A 
b. A 

c. A 
d. B 
e. A 

f. B 
g. B 
h. A 
i. B 
j. A  
 
 

  
 


